TOP

[m/s]=10 n n =058 0.9(0.30[m] 1[m]O)
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] [m2] [m3/min] ( )
300 350 400 450 500/ 550/ 600 650 700 750 800 850 900/ 950! 1000
300[ 313 44.6 58.5 71.3 85.7 99.4 1118 126.0
(0.58) (0.62) (0.65) (0.66) (0.68) (0.69) (0.69) (0.70)
350 478
(0.65)
400 67.2 86.4 106.6 126.0 1459 164.2 184.8
(0.70) (0.72) (0.74) (0.75) (0.76) (0.76) (0.77)
450 89.9
(0.74)
500 1155 1404 165.9 1920 2187 2430
(0.77) (0.78) (0.79) (0.80) (0.81) (0.81)
550 1452
(0.80)
600 1771 206.6 239.0 2722 3024
(0.82) (0.82) (0.83) (0.84) (0.84)
650 2104
(0.83)
700 2470 285.6 3251 3612
(0.84) (0.85) (0.86) (0.86)
750 2903
(0.86)
800 3341 3758 4176
(0.87) (0.87) (0.87)
850 3815
(0.88)
900 4277 4806
(0.88) (0.89)
950 4819
(0.89)
1000 540.0
(0.9)
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